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= ERRET 5% 2- U % 3- PO % 4- MU
(4878B~7H68) (7B5HB~10A6H) (10A6BH~1H4H)
1 128 =+ 0.6 *! 129 £ 06 127 £ 00 -
2 129 =+ 2.7 * 139 £ 15 134 £ 00 -
3 114 =+ 15 *? 115 =+ 0.6 ** 113 =+ 06 *¢ -
4 147 =+ 1.7 *? 151 =+ 15 *4 140 =+ 3.0 *¢ -
5 158 =+ 0.6 169 =+ 15 *° 166 =+ 1.8 *7 -
6 108 =X 0.6 109 =+ 0.6 ** 109 =+ 15 *® -
7 112 X 06 114 =+ 1.7 ** 113 =+ 1.7 * -
8 141 =+ 12 *3 145 = 10 145 £ 0.6 -
9 121 =+ 0.0 ** 126 = 15 124 = 1.0 -
10 108 =+ 12 *3 108 =+ 0.6 106 =+ 0.6 -

* 1 REHMEIE4A6H~7 A5 BTHS,
x2: REHMT4A6B~7 A6 BTHD,
*3:BREHEIE4ATE~T A5 BTHA,
*4: REHMIT7TA6H~10A7BTHD,
*x5: BREHHEIZ7A6B~10A 11 HTH%,
*x6: SXEHME 108 78~1 B4B8THS,
7 HEHFEF10A 11 BH~1 A5 BTHD,
x8: REBEHRIX10A7H~1 A5 BTHS,
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